N1
20165 E (EH28F) MFRAREXRE 284587
¥—HH 20165!’—10}51155(:1:) FEI)—J HAERMI105—55—10% 025 0:05
B[ & AS—F (T =ZXa—F-J9FFILED E2T1 D Ba—F (B o= - JyFFILED FH ] No. Ca—F(F=—Za—F- No. DO—F (B Eo= A AEEAED EEIN
1 [1430 ® +UhSILD — ZRHET @ |tvh3LC FEr 8B ® |rUFLvsC — @ | #=MA EEB
2 [15:00 ® | EAEHA — FErBA ® |EYrIILE — REA @ | ®BEHB — +orSB Bra rFLv4B
3 |15:30(15:55) @ |+~ h5LD — £MB ZRHT — tUkILC @ [rUFLvEC — tURSILA @ | &YhIILF EMTA
4 [16:00(16:25| @ | H“AEEA — EURSIVE @ | FErBA — BEA ® |EBEEB — rITLuEA +UrSILB B8
5 [16:30| 16:55| @ BT — FELr BB tUrIILC — £MB ® | EYrIILF — EEB @ EMA EURSILA
6 [17:00(17:25| @ | %BHEA — REA @ | FErBA — tURIILE @ |[tvrSLB — rFLvsB @ Bra r)TLvEA
7 [17:30{17:55| @ |+&¥hZILD — tUrSILC ® | FErBB — £MB @ |rYFLvsc — EMA REB EURSILA
18:00| 18:25 — — ® | EAHEB — Bra @ |rYTLvsB r)TLvEA
9 |18:30|18:55( @D |+~ hFLD — FE 8B ® ZRHT — £MB ® |rYTLvsc — REB ® | EYhILF TUrTILA
10 |19:00] 19:25 — — ® | EAFREB — r)TLvsB @ |tEh5LB r)TLvAA
JIL—TA HER
I — 31N TEFBA FOFSILE BEA B & [ 5 [Bal &1 & [ = [Er FI—TA
B RIIA & @ ) 1 ERERTA |
FErBA — @ [0} 2 FERZBA |
[ERFSILE = ® 3 EURSILE |
A = = = A mEA
TIL—JB B TL—JB
[ ERREB EOFSILB 7B FIoT958 FIOUYZA B & [ 2 [Bal &1 & = [FE 5[ ZAREB |
@ [70) €] [(©) 6| TUFSILB
t/hwle = 5 [} 30 7 BrB
BTA = ® () 8 VI8
FITLv3E = = K} 9[_FUTLYFA
FITUYZA = = = = L—JC
JL—JC 10[__BEoFZILD
EOFSILD ZRHT EOFSILC TFEZAB =B BT & & | Bal &1 % [ = [IBk] 11
[E~F5ILD ()] ® @D © 12| EZFZILC
RHT = (0] an [€7) 13 By A8
[EZF5ILC = @ @ 14 EJui=)
-'Ek'reB = = (D) ZL—JD
— — 15[ _FJJILYFC
77“)» 7D Bifn 16 EUFSILF
I — R ) ) 727 1) TOFSILE ETA EEB EOTSILA B & [ 2 [Bal &1 & [ = [FE 17 =TA
FTJT3C G 1)} a 18 EEB |
EOFSILE = (1) 19 ) 19 BURSILA |
=TA = @ @
EEB = = )
[ FSILA = =
20165 E (FH28F)MFEARERE 284RB—J 19F—4
””‘EIE 201651510)5]295(1) RE)—J SABFEREI105—-55—10% 0:25 0:05
23 AD—F FT=Za—F-JyFFILED EH] No. BI—F(EE o= JuFFILED E=H] No. CI—FT—Aa—F~AAREED F=H| No. DI—F (B o= A AREAED =
1 14.30 14:55 ® A4z —— Bl @ C1fi —— D14 @ | 2fzm2fL —— 2 D34 @ | 2fLmafr SO 1L
2 |1500(1525| ® | 3fLod3fr — 3D At ® | 4in1fz b A 2fL @ | 4Ltz — B5fi C5fi D5fi
3 |15:30(15:55( @ A4z —— 20D 14z ® Bl —— ClfiL @ | 2fzm2fL —— D24 @ | 2fLo3f 21D 44T
4 |16:00(16:25| @ | 3LD3fL — A D31 @ | 3timats b ABLD 1L ® | 4trnafs — C5fi ® B5fi D5fi
5 |16:30(16:55( @D B14i —— D14 (@) C1fi —— 261D 1L 261D 3fL — 3RO 1z @ | 2fLmafr 3L D241
6 |17:0017:25| @ | 3fLm4afs — 424 @ | 4011 b ABLD 3L @ | 4fLDafs — D5 @ B5fi C5fi
7 |17:30|17:55| @ A4z —— Clfi @® D14z —— 261D 1L @ | 2tzm2 — 2D 4fx @ | 3fLm1fL 3L D241
18:00( 18:25| @ | 3fLMD3fL — AL D14 @ | afLm2fr — ABID3fL —
9 |[18:30|18:55( @D A4z —— D14 @ Bl —— 261D 1L ® | 2tzm2fr — 3RO 1z ® | 2fZD3fL 3L D241
10 [19:00|19:25| @9 | B{LD3HL AL 24 @® | 3fLdaL ARLOD 3L
19:35~ | RER sxu—’f—%mwu FLEF « Z—1%— u—o‘—éﬁuﬁ 17:35~ | &ERX ZRRIwL U—F=F1
OSI (141) Y—U BfiR
ATEL BIRL CIfL DIl DI B &8 [ 2 [Bm] 5 % ] = [Tak] OS1 () Y—4
[ATTL )] ® 3D Q) 1[AT
BTfiL = () D [€7) 2B
CTf = @ [0 3[C
Dif: =] = =] @ 4D
2D = = = = 52D TR
S7 =7 B 7 J—=5
221 2R 3Tr 2R DAL SR DL SR D21 B &8 5 [Bal &1 & = [T 6[2FL0D2
L D211 [©) () [€X) an 7|2%L
3L = @ 19 ) 8[2fIna
FIDATT = @ @ 9[3HLIDT
[S1ORES = = = @ 10[3FD2
3D 21T = = = = Z—— J—5
OA—IN— 17 Bhx 1[3%L
__ 33 SEDATL A DI6L AT D21 AT D3LL B &8 2 [Bel 51 %] = [Tak] 12[3IND4
3T IL G ) ) (£} 13[4%L
QL = () QD 30) 14[4RLD2
DT = ® @ 1541
LD 21 = = = [€0)) AR XL J—5
LD 3L = = — — 16 [4TL DAL
ATl 17 BREx 17[B5{
R 5T0Y.Lid B5hL CHlL D51 B [ & (el & [ % | = [IE7] 18[C5H
AT D AT @ () 19[D5%
B5fL = ) ()
C5fi ®
D57 — = —




